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l. (a) Discuss the naturc and scope of Managernent Accoun-

ting.
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(b) Distinguish botween cost control and cost reduction.

ffrr6 iffqq sfu or.ra't +,fr E sr;ratq dliqr z

or (olwf

(a) I{ow does Manrgcment Accountirrg di{fcr fi om Financial

Accounting?

erqffq dsiry{ ffic fuq,-{ * $S ft-q } r 3

(b) What is cost rcduction? Givc.examples. (

drrd q 6'ft mr 6tff tz c<taq Ofrsr j

2. (a) Distinguish betwecn fixed and flexible budgct. Briefly

state the circumstances in which flexiblc budgets are

used,

ftqr nEr d-qrhs q-da q grin dftcrutqrfl-o qq-a

fr{ REM d ytrq fr;q qrm tr 8

l:actory expenses :

Fixed Rs. 12

Variable Rs.4

Oflice and selling expenses :

Fixed Rs.6

Variable Rs. 3

An importer from Australia placcd an ordcr for 6,000 units

at a price ofRs 30 pcr unit. Exeoution ofAustralian order

willresult in an additional cost ofRs 10,000 over and above

the variable cost. Should the Ausfatian order bc acoepted?

Show complete working.

fula \'wqtJ fto affi+ EffR s1 2o,ooo {+'r$ fi
sdnfi q fu*q qt(EMR il oo ro eq for{ fr aErft

tr sfr Ez6r{ ilrrfr frq } :

[gH mIrfi 60 l0

IrdRT €tri 60 7

i5R€JI-;IT EFT :

ReR 60 12

cRrd-{fi-d ro 4

orqfurq q furq qq :

Rw 606

qR-ddraffq 60 3

ft) Write a short note on Zero Base Budgeting.

axq qIqR qire v( {l$q fuqoft frfuqt 7

or (w*)
Thc following details havc becn exhacted from the books of(

Jupiter Electricals Ltd. You are required to prepare a flexiblc

budget for thc ycar starting from July 1,2017.

1'he conrpany produces one produot- DETX II.

Dircct material cost Rs. 7 per unit.

4
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;rrq+ 6-d m.ft +1 frq $rft cfu n-q,,I{ eTrq.d t srmr

ara ri,-& tr orrrfr orqE E Rq RqftA E t qo a1

qrqrfiI .t :

(a) znd qt( *t sqo-etn Sers te,too frrh #fr t

O) y-seT m q-eT d sqirerdT *+o sooo s.e &ft r

(c) z16 s$H t fu zo,ooo 6o fuilq{ q-( qq i6r$ 3iR

k{r ffi sftkm Rer< frT{d * ffi rft l|-* ff+rc ffi (

fuxq zsvo qsrcT cI rro-m tr qq q niq,ft fr qt{

off =rS rIfrr
q-d-6 ftqft d n-df-dq srmr +tr{r grnq r sTrr8

gflq * ogrn zn'v-fr d {n-s qftsTrmTcc iEtr dtrr

*qlz 15

or (ur<r)

(a) wlut is diffcrential costilg Explain its inrportance in decision

making.

s?rrm fiFRT mi' rtff $r ftufzra t' 5R6.r {6s
wGTEgr s (

O) Virat Exports Ltd. is producing and selling 20,000 units of

its product in the homc market at a price ofRs 60 per unit.

The per unit cost is as follows :

Dircct materials Rs' lo

Direct labour Rs' 7

Dircct labour cost averageS Its. 2.50 pcr hour and requires 1.6

lus to produce onc unit of DETX lI.

Salesmen arc paid a commission of Re. I per unil sold.

Fixed administration and selling expcnses amount to Rs. 85,000

per year,

Manufacturing overheads are estinrated in the following amounts

under spccified volumes :

Production in units 1,20,000 1J0,000

Expenses: Rs. Rs,

lndirect motcrials 2,64,N0 3,30,000

Indircctlabour 1,50,000 1,87,500

Inspection 90,000 1,12,500

Maintenance 84,000 1,02P00

Supervision 1,98,000 2,34000

Depreciation 90,000 90,000

Engineering scrvices 94,000 94,000

Total manufacturing overheads 37d.,ft0 illdFd
Prcpare a Total Cost Budget for 1,40,000 units.

dfrat sifrr6-d$ to" * gra-+1fi ft'r ftriiT ftrt T+ tt
I gdr{, 20lz t ernrl q{ S ftc em-+1 dqsfl-d e-rre

ftqrr .ncqr t r

;6e'-ff \16. sflK e-qrff t - ortx-n
[ffiI {rErr f,FkI 7 60 gril 16r$

1ir3 r PJ'.O.
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n€m {q dH( ot{rfl 2% So sft d-{r t 3t{ \q Es,d

DE"rx-[ -& wml fr r.o ri.] cG tr
Grnq-oilfoil of t oo !ft gm,ri tnr f{fiq affiqm 6r Frc-dr

6l

RqI eurgFm e fus-q qq ss,000 60 cfr sS ?: r E<qrfi

gqR-aq 6r u-gqm ffi oTrq'f,-n q ftq $: (

scrc< rorrql { r,zo,ooo l,sqooo

aF[: So 60

ouiqs{ m{ff ?.,@,oN 3Jo,ooo

oilrf,Rr {q u0,000 1,87,500

F{hrq 9o,ooo l,tasoo

lr{qki M,000 1,02,000

qdaepr l,e8,ooo \34,w

{-d6rtT 90,000 ,0,000

{6ffiq tqrt %poo e4,ooo

Ed rsr<{ scRqq 9,?o,ooo rr"sqooo t

r,eo,ooo 5o(fr * fts Em Hrrrr rur q-{rgg I 15

'lhe company is frequently affected by acute scarcity ofraw

material and high labour turnover. During the next period, it is

expected to har,c one ofthc following situations:

(a) Rawmaterial available will be only 12,100kg.

ft) Direct labour hours available will be only 5,000 houn,

(c) It may be possible to increase sales ofany one product by

25% withoutany additional fixed costs but by spending Rs

20,000 on advertisemenl Tlrere will be no shortage of

material s or labour.

Suggest the best production plan in each oase and the resultant

profit that the company would eam according to your suggestion,

xvfro fir *g ucrcr A, B st( c r{rff t aft( yFd-

Hqfil-o qrem t ffi trurqtr, tam'q qs ilqI F*lir

rr++ frt Rt t :

A

10,000

n

B

12,000

16

c
20,000

l0

3. (a) State all the overhead variances along with thcir

formulas.

{fi sqfrqq frrq{uil 41 ts-{41 (ri sFd rdrgcr 7

SflIr(

tqfqil mrr ({dr0

irfrq lfdq cfu {+'ri G")
qffi HFrt cfr r+r{ (ro)

FeeI mTff (ro rozftiro)
yeRI srq (ts Uozvu:a)

qnedceftf, tsc.R-qq

REt scFaaq sfr {o.r{ (u")

il

6

J

5

4

J

2

t.50

I
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Prcpare the Income Statemcnts under Absorption Costir:g

and Variable C'osting. Explain the difference in profit, ifany.

q6. 6.q.fi d s,c{rqr qrErf,T 12,500 f+i{ t eilr ss6l
qIEril sqfr{ 8070 t r r-l-2c17 +1'frqn qrc or.rnGr+

s-;el 1000 {+T{ qlr 3l-12-2017 m} irrnq q{ t
sst rr,ooo Etn,r{ e?crRa d ott ro,ooo sd6r*d

tffr
cfr {6r{ qr-<-s qMlrfi-d dFkt 6.50 6o }, q5a5

Rq{ 6r1qr:Tr mrd cft qq( t.so u" trW Ftqr

f{oq ofu nmft'+ wR-qq 10,000 Fo t t qq-ft ofit
s€r{ r0 r" cfr {6.r{ t is-ff Br cFt{ffifl Hrr(

efu erqttsor fir{rd t inq fq-qi'r +cR dfrsr trrq t
er<, qR +t{ t, sqflEtr

5. XY Ltd. is manufacturing three household products A, B and C

and selling them in a competitive market. Details of current

demand, selling price and cost structure are given below :

Product A B C

Expectcd dcmand (Units) 10,000 12,000 20,000 (

Sclling price per unit(Rs.) 20 16 10

variable cost pcr unit (Rs)

Direct materials (Rs l0ikg) 6 4 2

Dircct labour(Rs 15/hr) 3 3 l'50

Variablc ovcrhcad s 2 I I

Fixed ovedtead per unit(Rs) 5 4 2

7893 8

(b) Discuss the advanlages and limitations of standard

costing.

rrFch- Frrrrf, fr sqr q erq] m frt+q dfqq, 8

or (uwr)

'The standatd cost on material and labour for the making ofa

unit ofa certain product are cstimated as follows ;

Material 80 kg at Rs 1"50 per kg

[,abour i8 hrs at Rs 1.25 per hour

On completion ofthe production ofa unit, it was found that 75

kg ofmaterial costing Rs. 1.75 per kg has been consumed, the

tinre taken was 16 hours, and the wagc rate was Rs. 1.50 per

hour.

You are required to calculate material and labour variances.

ffis-sre ffqtn {q,r{*firtd 8Iq'eit{nmff* qnm

TrFkr E6r qrgqrq f{q t :

mqrft 80 kg, Rs 1.50 pcr kg

8fq l8 hrs, Rs I .25 per hour

qaF E6r{ * uanEi 6l (qlfu st qFII rrqT fr zs ffi
srcff r.rs r'" cfr tm d m'm ufr rgat g{ t ro st
{FFI flrfi sitt ,.rq q1 t.so no gft qoa tt
Bilq+} alqfi s fi fu{qur ffiti ,u

?rei 5 P.T.o,
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trfiq t@ cfr srd ?ot,o

rro dfrg :

(0 Ezr-F{6'{ f{g
G) 30,000 E'o tbT RIq cfi * fdS ffi qRAd 6I

frm.q fu€n qrhn

(iO 2,ooo ro fr qfrftffi Rqr vr.ra t qfr a,e.fi

ooo erd yfr s{ *( ssrkr qT rro-fi t il tiil
{ Rt mr qi ffit rgt A frc f+m'q mr tn
slfrsl ro

or (omlr)

(a) What is PV Ratio? Explain its uscs.

dF{ rrril qgqt-d agr *cr ti vc$ uqrtrr qrfir$g1 5

(b) A company has a production caprcity of 12,500 mits and

its normal capacity utilization is 80%. Opcning inventorybf

finished goods on l-1-2017 was 1,000 units. During the

year ending 3l - 12-2017, it produccd 11,0([ units while it

sold only 1 0,000 units.

Standard variable cost per unit is Rs 6.50 and standard

fixed.factory.cost per unit is Rs L50. Toral fixed selling

and administration overhead aDrounted to Rs 10.000. The

com;:any sells its products at Rs l0 per unit.

z P.T.O.

(
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4 (a) What are the characteristics of Marginal Costing?

ff'e orro sft frM q'{r Bi 5 ,

(b) Sun Plastic Compani makes plastic buckets. An analysis

ofthcir accounting rcveals :

Vadable cost p€r bucket Rs.20

Fixed cost Rs. 50,000 for the year (

Capacity 2,000 buckets per year

Selling price per bucket Rs.70

Find:

(i) Break-even point

(ii) The number ofbuckets to be sold to get a profit ofRs. r

?0,000

(iii) What would be.the selling price to maintain the prolit

per bucket same as.at (ii) above, if the company can

manufacturc 600 buckets more per year with an

. additional fxed cost ofRs.2,00o. 
1

F{ wlR-d, eio wlfu6 qft sri& v+rff tru{S A61

+ ffisq t rn qo-or t 
'

qftakf{en-d Hrrrd cft Erd \Eo 20 I

Rqr orrro so,ooo uo qd * ffi
qrrrdT 2,000 Erd Cft Sq
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